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(e) |-14 () (0 _33] 16. (a) x=-6,y=-8 (b) x=3,y=-5
13 (€ x=6y=-12 d x=8,y=26
6 -16 () x=-4,y=6 ({3 x=—3‘y=_2
-3 10 =2
@ |7 3 () (10 2 0) ’
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17. @ (12 -12) ® |4 5
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o 40 20 -75
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5 a3 0 -45 -70
9. (a) Does not exist. 18. (a) () k=2 (i) x=3,y=-6,z=-3
(b) 2x4 i
(¢) 4x3
(d) Does not exist. (b) [—26]
(e) Does not exist.
M 3x2 _ a5 4 -69 54
(g) Does not exist. 19. (a) () [2 “J a |52 -3
h) 2x2 98 39
30 -66 48 198 -144
18 (& () (b) _3] ® @ |50 -2 ) [-150 6
” o (30 94 34 282 -102
© {33 @ {1 s

g w4 il
© (64 12 17) @

12 14 12
@ |-13 -6 35 (h)

(b) (i) The order of Pis 2 x 1.
_46 28 e 3 )
34 -27] (@) [—1

39 42 9 1 4 1 6 1 8
2 o in &
21 (a) A_(O 1),A_(0 l),A—(O 1)

£ - 2
[_3 0 _12] 20. (@ @) [éo _1362) (i) (3 (l)5 01)
0
0

11. (a) (i) 69 (i) -21

5 g2 1%2
®) () 50 (i) 7 ®) (0 f’]
i " 1 16 1 22
Further Practice © O A'= (0 1)"‘“ _ (0 : )
12. (a) a=4,b=-6 (b) c=-5,d=4
(©) e=3,f=10 (d) w=4,x=-8,y=48 (ii) k=16
13. (a) Friday 10 12
(b) Tuesday and Thursday 22. (a) |18 17
15 24
14. (a) (19071 1%55 igg) () () (650 831)
For the week, $650 worth of chocolate cakes were
(b) Shop B sold and $831 worth of strawberry cakes were sold.
(¢) (i) 103 . . ' (ii) (1481)
(ii) The mean price of a model 2 printer in 3 shops is For the week, $1481 worth of cakes were sold.
$103.
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